
SPARE PARTS LIST 
 ERSATZTEILLISTE 
 LISTE PIECES DETACHEES  

 
SUNTEC INDUSTRIES France – 1, rue Lavoisier – CS 60102 – 21 603 LONGVIC Cédex  

Tel +33 (0)3 80 70 60 70 – information@suntec.fr – www.suntec.fr 
 

March 2013 

 

 
  

AJ 

mailto:information@suntec.fr
http://www.suntec.fr/


 SPARE PARTS LIST 
 ERSATZTEILLISTE 
 LISTE PIECES DETACHEES     

 

 

SUNTEC INDUSTRIES France – 1, rue Lavoisier – CS 60102 – 21 603 LONGVIC Cédex  

SUNTEC INDUSTRIES France – 1, rue Lavoisier – CS 60102 – 21 603 LONGVIC Cédex  
Tel +33 (0)3 80 70 60 70 – information@suntec.fr – www.suntec.fr 

 
March 2013 

 

 
 
 
 
 
This table is also valid for AJV pumps. 
 

 

 
 
Diese Tabelle ist auch gültig für AJV Pumpen. 
 

 
 
Ce tableau s’applique également aux pompes AJV. 
 

 

Pos. Description Reference Pos. Description Reference 

1 
2 

2.1 
3 
4 
5 

Pressure adjusting plug assy (screw driver slot)  
Pressure regulator kit 10 - 28 bars  
Low Pressure regulator kit 0,5 - 3 bars  
Shaft seal  
By-pass plug  
G 1/4 gasket  
G 1/8 gasket  

991495 
991492 
270716 
991553 

3779071 
3779201 
3779261 

6 
 

7 
8 
9 

10 

G 1/4 steel plug  
G 1/8 steel plug (without washer)  
G 1/4 plastic plug  
Filter  
Cover gasket  
"Cover + cover gasket + filter" kit  

3779191 
3779835 

3729744TR 
271027 
270112 
991477 

Pos. Bechreibung Teilnummer Pos. Bechreibung Teilnummer 

1 
2 

2.1 
3 
4 
5 

Druckeinstellungschraubensatz (Schlitzschr.) 
Druckregelsatz 10 - 28 bar 
Nieder Druckregelsatz 0,5 - 3 bar  
Wellendichtung  
Umleitstofen  
G 1/4 Dichtung 
G 1/8 Dichtung  
 

991495 
991492 
270716 
991553 

3779071 
3779201 
3779261 

6 
 

7 
8 
9 

10 

G 1/4 Stahlstopfen 
G 1/8 Stahlstopfen (ohne Scheibe)  
G 1/4 Plastikstopfen  
Sieb  
Deckeldichtung 
"Deckel + Deckeldichtung + Sieb" Satz  
 

3779191 
3779835 

3729744TR 
271027 
270112 
991477 

Pos. Désignation Reference Pos. Désignation Reference 

1 
2 

2.1 
3 
4 
5 

Ens. "bouchon de réglage pression, à fente" 
Kit régulateur 10 - 28 bars 
Kit basse pression 0,5 - 3 bars  
Joint à lèvre  
Bouchon by-pass  
Rondelle G 1/4  
Rondelle G 1/8 
 

991495 
991492 
270716 
991553 

3779071 
3779201 
3779261 

6 
 

7 
8 
9 

10 

Bouchon acier G 1/4 
Bouchon acier G 1/8, sans rondelle 
Bouchon plastique G 1/4  
Filtre 
Joint de couvercle 
Ens. "couvercle + joint de couvercle + filtre" 

3779191 
3779835 

3729744TR 
271027 
270112 
991477 

AJ 

mailto:information@suntec.fr
http://www.suntec.fr/

